EARAZROREIERT — 2 N—XBISY —F 2013518278 (H) 15@&%12H

KM C3—4 C3 #7%—#% ‘ (XM&] W ‘ (sl — | & (B) 13000 &
[AE4£] 1% :9,000H”  23%:23,000M  3#%&:11,000MH  437%&:8,000H”  53%&:500 M
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
P S FREER :28. -1-1- . — MEEX (FH)
118lg|¥av7 703X o4 | 7 1(2_8)1 1-1-1-1 | 41.4 1 g? A
LT TRy b BixavIIrTLR Riikses]
== : -0~ = THER (BH)
ol7l 7| ¥y o7om7 i 6 5_0 1.(2??).8 2-2-2-2 | 42.0 2 (4_719) e
R:TFNTTYT BTHAFTY— J—HrIr—L
e LA 9. 5| — Hhf— ()
37| 8| FED /vy i o4 ) 1(239)4 8-8-6-5 | 41.5 4 (5:0) At
L:T7v3IT7—L BiAVEFRTLT 1 B
ST 3 . —6-3— — |EE (&
4l5l5| TNTanyzy 4 | PEED 172?:;1 6-6-3-3 | 42.2 6 ;1:155) g%g%( #)
:IT7YN—K B:I7Y—Z+ BRI
=« RIFEI :29. ~3-4- . — RAKX (BFH)
5 A 7RSI i 4 *5%_0 1(12/92)5 3-3-4-4 | 42.2 5 (4_520) NP
L:¥x>77A-U72 B:van)—-X [A=EEse ]
3 25— :30. -9-0- . = Hehsr (EH)
6lgliol 7 ka3 i 6 5_0 1(3;))1 8-9-9-7 | 41.9 8 (4_5;6) ﬁﬁ—g}
L:xrinfa— B:IIVIET Y B &HX
.. . > KHEAE : 54— — HEIEX ()
. 6| UT—KKLTY > 4| KA 1.(310>.3 3-5-4-6 | 42.7 3 (4_9;) EEF&&E
L:2ZXp=wrR B:vyy/O0-X al=sbae]
N | RS . —10-10- — MBI (B)
gl1l1|NE¥FU Y b it 6 Asmzﬁ (12.310/.28) 10-10-10-8 | 42.0 7 (4_624) A
RiZa—1>T7> K B:NXA NG Y
_ \LIEES .31 W . _ RHECHE ()
9 o| VYT 4= i 5 i 1(341)6 3-4-6-9 | 43.9 10 (4_6; Aok @)
RV KRYIYRIRX BHT—XR INHISHT 7 — LI
Sy (S . AAHH 31, —7-8- 7| = RRFED (SH)
10 3| v—Evay7 H o4 e 1(7131:)7 7-7-8-10 | 43.7 9 (4+773) (%);&@
RNAATZRE— BiATHA RA b ZRANY =T 1 —Ib K7 7 — Lzt
® 1—F—@EBIERL
13—74— 9,7,(2,4,6),5,3,(8,10),1
20—F— 9,7,4,2,6,5,3,8,10,1
== 9,7,5,(4,6),(2,8),3,10,1
43—+ — 9,7,5,4,8,6,10,1,2,3
[ /N
B 9 130M 714K 7-9 190 B 7-8 180 JEE 7-8-9 1,400M
B B 9 110H 8-9 1,170 B = 7-9 200M JEE 9-7-8 5,310/
7 130H4 7-8 1,420H B H 9-7 350M
8 490H

ABICOVWTRDTEEERROODE. TR LIV,




